

Boundary Value Problems for First Order Impulsive Difference Equations*

Peiguang Wang

*College of Electronic and Information Engineering,
Hebei University, Baoding, 071002, China
E-mail: pgwang@mail.hbu.edu.cn*

Wenli Wang

*College of Mathematics and Computer Science,
Hebei University, Baoding, 071002, China*

Abstract

In this paper, first order impulsive difference equations with linear boundary conditions are discussed. By using a new comparison theorem and the method of upper and lower solutions coupled with the monotone iterative technique, criteria on the existence of minimal and maximal solutions are obtained.

AMS subject classification: 34D20, 34A37.

Keywords: Impulsive difference equations, linear boundary conditions, upper and lower solutions, monotone iterative technique.

1. Introduction

In this paper, a boundary value problem (BVP) for impulsive difference equations with a family of linear two point boundary conditions is studied. The result is based on methods of upper and lower solutions and the monotone iterative technique. For constructing monotone sequences of a corresponding linear equation, the extremal solutions of the considered problem are given. The obtained result is an extension of the known one for impulsive difference equations with periodic boundary conditions [1], and also generalizes initial value problems as well as boundary value problems for ordinary difference equations and impulsive difference equations.

*Supported by the Natural Science Foundation of Hebei Province of China (A2006000941).

Received August 29, 2006; Accepted December 7, 2006

The method of upper and lower solutions coupled with the monotone iterative technique provides an effective mechanism to prove constructive existence results for initial and boundary value problems for nonlinear differential equations and difference equations in recent years [2–6]. The basic idea of this method is that using the upper and lower solutions as an initial iteration, one can construct monotone sequences from corresponding linear equations, and these sequences converge monotonically to the maximal and minimal solutions of the nonlinear equations.

This paper is organized as follows. In Section 2, we establish a comparison principle. Then we discuss the existence and uniqueness of the solutions for linear BVP for impulsive difference equations. In Section 3, by use of the monotone iterative technique and the method of upper and lower solutions, we obtain existence theorems of extremal solutions for impulsive difference equations with linear boundary value conditions.

2. Preliminaries and Comparison Result

Consider the BVP for impulsive difference equations

$$\begin{cases} \Delta x(n) = f(n, x(n)), & n \neq n_k, n \in J, \\ \Delta x(n_k) = I_k(x(n_k)), & n = n_k, \\ Mx(0) - Nx(T) = C, & k = 1, 2, \dots, p, \end{cases} \quad (2.1)$$

where Δ denotes the forward difference operator, i.e., $\Delta x(n) = x(n + 1) - x(n)$, $f \in C(J \times \mathbb{R}, \mathbb{R})$, $J = [0, T] = \{0, 1, \dots, T\}$, $I_k \in C(\mathbb{R}, \mathbb{R})$, ($k = 1, 2, \dots, p$), $M > 0$, $N \geq 0$ and C are real constants, and $\{n_k\}_{k=1}^p$ are fixed points, such that $0 < n_1 < n_2 < \dots < n_p < T$, $T \in \mathbb{N}$.

Let Ω denote the set of real-valued functions defined on J , and let \mathbb{N} denote the set of all natural numbers. For all $x \in \Omega$, put $\|x\| = \max_{n \in J} |x(n)|$.

Definition 2.1. The functions α and β are called lower and upper solutions of (2.1), respectively, if

$$\begin{cases} \Delta \alpha(n) \leq f(n, \alpha(n)) - r_\alpha, & n \neq n_k, n \in J, \\ \Delta \alpha(n_k) \leq I_k(\alpha(n_k)) - d_{\alpha_k}, & n = n_k, \\ M\alpha(0) - N\alpha(T) = C, & k = 1, 2, \dots, p, \end{cases} \quad (2.2)$$

and

$$\begin{cases} \Delta \beta(n) \geq f(n, \beta(n)) + r_\beta, & n \neq n_k, n \in J, \\ \Delta \beta(n_k) \geq I_k(\beta(n_k)) + d_{\beta_k}, & n = n_k, \\ M\beta(0) - N\beta(T) = C, & k = 1, 2, \dots, p, \end{cases} \quad (2.3)$$

where for $0 < L < 1$, $L_k < 1$, $r_\alpha, r_\beta, d_{\alpha_k}$ and d_{β_k} ($k = 1, 2, \dots, p$) are given by

$$r_\alpha = \begin{cases} \frac{(M - N)(Ln + 1) + LNT}{T} [M\alpha(0) - N\alpha(T)] & \text{if } M\alpha(0) > N\alpha(T), \\ 0 & \text{if } M\alpha(0) \leq N\alpha(T), \end{cases}$$

$$r_\beta = \begin{cases} \frac{(M-N)(Ln+1) + LNT}{T} [M\beta(0) - N\beta(T)] & \text{if } M\beta(0) < N\beta(T), \\ 0 & \text{if } M\beta(0) \geq N\beta(T), \end{cases}$$

$$d_{\alpha_k} = \begin{cases} \frac{(M-N)(L_k n_k + 1) + L_k NT}{T} [M\alpha(0) - N\alpha(T)] & \text{if } M\alpha(0) > N\alpha(T), \\ 0 & \text{if } M\alpha(0) \leq N\alpha(T), \end{cases}$$

$$d_{\beta_k} = \begin{cases} \frac{(M-N)(L_k n_k + 1) + L_k NT}{T} [M\beta(0) - N\beta(T)] & \text{if } M\beta(0) < N\beta(T), \\ 0 & \text{if } M\beta(0) \geq N\beta(T), \end{cases}$$

and $\alpha, \beta \in \Omega$, $\alpha(n) \leq \beta(n)$ ($\forall n \in J$).

To establish our main result, we also need the following lemmas.

Lemma 2.2. Assume that

- (i) the sequence n_k satisfies $0 \leq n_0 < n_1 < \dots < n_k < \dots$ with $\lim_{k \rightarrow \infty} n_k = \infty$;
(ii) for $k \in \mathbb{N}$, $n \geq n_0$,

$$\begin{cases} \Delta m(n) \leq l_n m(n) + q_n & n \neq n_k, \\ m(n_k + 1) \leq b_k m(n_k) + e_k, \end{cases}$$

where $\{l_n\}$ and $\{q_n\}$ are two real-valued sequences and $l_n > -1$, b_k and e_k are constants, and $b_k \geq 0$. Then

$$\begin{aligned} m(n) \leq & m(n_0) \prod_{n_0 < n_k < n} b_k \prod_{n_0 < i < n, i \neq n_k, k \in \mathbb{N}} (1 + l_i) \\ & + \sum_{i=n_0}^{n-1} \prod_{i < n_k < n} b_k \prod_{i < s < n, s \neq n_k} (1 + l_s) q_i \\ & + \sum_{n_0 < n_k < n} e_k \prod_{n_k < n_j < n} b_j \prod_{n_k < i < n, i \neq n_j, j \in \mathbb{N}} (1 + l_i). \end{aligned}$$

Remark 2.3. This lemma is a discrete version of [3, Theorem 1.4.1].

Lemma 2.4. Assume that $m \in \Omega$ satisfies

$$\begin{cases} \Delta m(n) \leq -Lm(n) - r_m, & n \neq n_k, n \in J, \\ \Delta m(n_k) \leq -L_k m(n_k) - d_{m_k}, & k = 1, 2, \dots, p, \\ Mm(0) - Nm(T) = C, \end{cases} \quad (2.4)$$

where $0 < L < 1$, $L_k < 1$ for $k = 1, 2, \dots, p$, $M > 0$, $N \geq 0$ are constants such that

$$\frac{N}{M} (1-L)^{N-p-1} \prod_{k=1}^p (1-L_k) < 1,$$

and

$$r_m = \begin{cases} \frac{(M-N)(Ln+1) + LNT}{T} [Mm(0) - Nm(T)] & \text{if } Mm(0) > Nm(T), \\ 0 & \text{if } Mm(0) \leq Nm(T), \end{cases}$$

$$d_{m_k} = \begin{cases} \frac{(M-N)(L_k n_k + 1) + L_k NT}{T} [Mm(0) - Nm(T)] & \text{if } Mm(0) > Nm(T), \\ 0 & \text{if } Mm(0) \leq Nm(T). \end{cases}$$

Then $m(n) \leq 0$ for $n \in J$.

Proof. Case I: $C \leq 0$, i.e., $Mm(0) \leq Nm(T)$. Consider the following inequalities:

$$\begin{cases} \Delta m(n) \leq -Lm(n), & n \neq n_k, n \in J \\ \Delta m(n_k) \leq -L_k m(n_k), & k = 1, 2, \dots, p. \end{cases}$$

By Lemma 2.2, we get

$$m(n) \leq m(0) \prod_{0 < i < n, i \neq n_k} (1-L) \prod_{0 < n_k < n} (1-L_k). \quad (2.5)$$

Let $n = T$. Then we have

$$m(T) \leq m(0)(1-L)^{N-p-1} \prod_{k=1}^p (1-L_k).$$

For $C \leq 0$, we have $m(0) \leq \frac{N}{M}m(T)$ and

$$m(0) \left[1 - \frac{N}{M}(1-L)^{N-p-1} \prod_{k=1}^p (1-L_k) \right] \leq 0.$$

Hence, $m(0) \leq 0$. From (2.5) we have $m(n) \leq 0$ for $n \in J$.

Case II: $C > 0$. Let

$$\bar{m}(n) = m(n) + g(n), \quad n \in J,$$

where $g(n) = \frac{Mn + N(T-n)}{T} [Mm(0) - Nm(T)]$, $n \in J$. Then

$$g(0) = N[Mm(0) - Nm(T)], \quad g(T) = M[Mm(0) - Nm(T)] \quad \text{and} \quad g(n) \geq 0.$$

Hence, we have

$$\begin{aligned} M\bar{m}(0) - N\bar{m}(T) &= Mm(0) + Mg(0) - Nm(T) - Ng(T) \\ &= Mm(0) - Nm(T) = C, \end{aligned}$$

and

$$\begin{aligned}\Delta\bar{m}(n) &= \Delta m(n) + \Delta g(n) \\ &\leq -Lm(n) - \frac{(M-N)(Ln+1) + LNT}{T} [Mm(0) - Nm(T)] \\ &\quad + \frac{M-N}{T} [Mm(0) - Nm(T)] \\ &= -Lm(n) - L \frac{(M-N)n + NT}{T} [Mm(0) - Nm(T)] \\ &= -Lm(n) - Lg(n) = -L\bar{m}(n), \quad n \neq n_k, \quad n \in J,\end{aligned}$$

$$\begin{aligned}\Delta\bar{m}(n_k) &= \Delta m(n_k) + \Delta g(n_k) \\ &\leq -L_k m(n_k) - \frac{(M-N)(L_k n + 1) + L_k NT}{T} [Mm(0) - Nm(T)] \\ &\quad + \frac{M-N}{T} [Mm(0) - Nm(T)] \\ &= -L_k m(n_k) - L_k \frac{(M-N)n + NT}{T} [Mm(0) - Nm(T)] \\ &= -L_k m(n_k) - L_k g(n_k) = -L_k \bar{m}(n_k), \quad k = 1, 2, \dots, p.\end{aligned}$$

In view of case I, we see that $\bar{m}(n) \leq 0$ for $n \in J$. Therefore $m(n) \leq 0$ for $n \in J$. The proof of Lemma 2.4 is complete. \blacksquare

Let us consider the linear impulsive difference equations with linear boundary conditions

$$\begin{cases} \Delta u(n) + Lu(n) = \sigma(n), & n \neq n_k, \quad n \in J, \\ \Delta u(n_k) = -L_k u(n_k) + I_k(\eta(n_k)) + L_k \eta(n_k), & k = 1, 2, \dots, p, \\ Mm(0) - Nm(T) = C, \end{cases} \quad (2.6)$$

where L, L_k ($k = 1, 2, \dots, p$) are constants, $I_k \in C(J, \mathbb{R})$, $\eta \in \Omega$ and $\sigma \in C(J, \mathbb{R})$.

Lemma 2.5. Let $0 < L < 1$. Then $u \in \Omega$ is a solution of (2.6) if and only if u is a solution of the following impulsive summation equation:

$$\begin{aligned}u(n) &= \frac{C}{M - N(1-L)^T} + \sum_{j=0, j \neq n_k}^{T-1} G(n, j) \sigma(j) \\ &\quad + \sum_{0 < n_k \leq T-1} G(n, n_k) [(L - L_k)u(n_k) + I_k(\eta(n_k)) + L_k(\eta(n_k))],\end{aligned} \quad (2.7)$$

where

$$G(n, j) = \frac{N}{M - N(1-L)^T} \begin{cases} \frac{(1-L)^n}{(1-L)^{j+1}} & 0 \leq j \leq n-1, \\ \frac{(1-L)^{T+n}}{(1-L)^{j+1}} & n \leq j \leq T-1. \end{cases}$$

Proof. Set $y(n) = \frac{u(n)}{(1-L)^n}$, $n \in J$. From (2.6), we see that $y(n)$ satisfies

$$\begin{cases} y(n+1) = y(n) + \frac{\sigma(n)}{(1-L)^{n+1}}, & n \neq n_k, n \in J, \\ \Delta y(n_k) = \frac{L-L_k}{1-L}y(n_k) + \frac{I_k(\eta(n_k)) + L_k\eta(n_k)}{(1-L)^{n_k+1}}, & k = 1, 2, \dots, p, \\ My(0) - Ny(T)(1-L)^T = C. \end{cases} \quad (2.8)$$

From (2.8), we have

$$\begin{aligned} y(n) = & y(0) + \sum_{j=0, j \neq n_k}^{n-1} \frac{\sigma(j)}{(1-L)^{j+1}} \\ & + \sum_{0 < n_k \leq n-1} \left(\frac{L-L_k}{1-L}y(n_k) + \frac{I_k(\eta(n_k)) + L_k(\eta(n_k))}{(1-L)^{n_k+1}} \right). \end{aligned} \quad (2.9)$$

Let $n = T$ in (2.9). Then we get

$$\begin{aligned} y(T) = & y(0) + \sum_{j=0, j \neq n_k}^{T-1} \frac{\sigma(j)}{(1-L)^{j+1}} \\ & + \sum_{0 < n_k \leq T-1} \left(\frac{L-L_k}{1-L}y(n_k) + \frac{I_k(\eta(n_k)) + L_k(\eta(n_k))}{(1-L)^{n_k+1}} \right). \end{aligned} \quad (2.10)$$

From the boundary conditions $y(T) = \frac{My(0) - C}{N(1-L)^T}$, we obtain

$$\begin{aligned} y(0) = & \frac{C}{M - N(1-L)^T} + \frac{N(1-L)^T}{M - N(1-L)^T} \left[\sum_{j=0, j \neq n_k}^{T-1} \frac{\sigma(j)}{(1-L)^{j+1}} \right. \\ & \left. + \sum_{0 < n_k \leq T-1} \left(\frac{L-L_k}{1-L}y(n_k) + \frac{I_k(\eta(n_k)) + L_k(\eta(n_k))}{(1-L)^{n_k+1}} \right) \right]. \end{aligned} \quad (2.11)$$

Substituting (2.11) into (2.9) and using $y(n) = \frac{u(n)}{(1-L)^n}$, $n \in J$, we see that u satisfies (2.7). If u is a solution of (2.7), then u satisfies (2.6). ■

Lemma 2.6. Assume that $0 < L < 1$, $L_k < 1$ for $k = 1, 2, \dots, p$, $I_k \in C(J, \mathbb{R})$, $\eta \in \Omega$, and

$$\frac{N}{M - N(1-L)^T} \sum_{k=1}^p |L - L_k| < 1.$$

Then the BVP (2.6) has a unique solution in Ω .

Proof. For any $u \in \Omega$, consider the operator F defined by

$$Fu(n) = \frac{C}{M - N(1 - L)^T} + \sum_{j=0, j \neq n_k}^{T-1} G(n, j)\sigma(j) \\ + \sum_{0 < n_k \leq T-1} G(n, n_k) [(L - L_k)u(n_k) + I_k(\eta(n_k)) + L_k(\eta(n_k))],$$

where

$$G(n, j) = \frac{N}{M - N(1 - L)^T} \begin{cases} \frac{(1 - L)^n}{(1 - L)^{j+1}} & 0 \leq j \leq n - 1, \\ \frac{(1 - L)^{T+n}}{(1 - L)^{j+1}} & n \leq j \leq T - 1. \end{cases}$$

For every u and v , we have

$$|Fu(n) - Fv(n)| \leq \sum_{0 < j_k \leq T-1} |G(n, n_k)[(L - L_k)(u(n_k) - v(n_k))]| \\ \leq \frac{N}{M - N(1 - L)^T} \sum_{k=1}^p |L - L_k| |u(n_k) - v(n_k)| \\ \leq \left\{ \frac{N}{M - N(1 - L)^T} \sum_{k=1}^p |L - L_k| \right\} \|u - v\|.$$

Hence, $\|Fu - Fv\| = \max_{n \in J} |Fu(n) - Fv(n)| = \alpha \|u - v\|$, where

$$\alpha = \frac{N}{M - N(1 - L)^T} \sum_{k=1}^p |L - L_k| < 1.$$

Thus the operator F is a contraction on Ω . That is, there is a unique element $u \in \Omega$ such that $u = Fu$. This u is the unique solution of (2.6). The proof of Lemma 2.6 is complete. ■

3. Main Result

Theorem 3.1. Assume that

(A₀): The function $f \in C(J \times \mathbb{R}, \mathbb{R})$ satisfies

$$f(n, x) - f(n, y) \geq -L(x - y),$$

whenever $\alpha(n) \leq y \leq x \leq \beta(n)$, $n \in J$, where $0 < L < 1$.

(A₁): The functions $I_k \in C(\mathbb{R}, \mathbb{R})$ satisfy

$$I_k(x) - I_k(y) \geq -L_k(x - y),$$

whenever $\alpha(n_k) \leq y \leq x \leq \beta(n_k)$, $L_k < 1$, $k = 1, 2, \dots, p$.

(A₂):

$$\frac{N}{M}(1 - L)^{N-p-1} \prod_{k=1}^p (1 - L_k) < 1.$$

(A₃):

$$\frac{N}{M - N(1 - L)^T} \sum_{k=1}^p |L - L_k| < 1.$$

Then there exist monotone sequences $\{\alpha_j(n)\}$, $\{\beta_j(n)\}$ with $\alpha_0 = \alpha$, $\beta_0 = \beta$, such that $\lim_{j \rightarrow \infty} \alpha_j(n) = \rho(n)$, $\lim_{j \rightarrow \infty} \beta_j(n) = r(n)$ uniformly on J , in which $\rho(n)$ and $r(n)$ are the minimal and the maximal solutions of the BVP (2.1), respectively, such that

$$\alpha_0 \leq \alpha_1 \leq \alpha_2 \leq \dots \leq \alpha_j \leq \rho \leq x \leq r \leq \beta_j \leq \dots \leq \beta_2 \leq \beta_1 \leq \beta_0 \quad \text{on } J,$$

where x is any solution of the BVP (2.1) such that $\alpha(n) \leq x \leq \beta(n)$ on J .

Proof. Let $[\alpha, \beta] = \{x \in \Omega : \alpha(n) \leq x(n) \leq \beta(n), n \in J\}$. For any $\eta \in C[\alpha, \beta]$, we consider the linear impulsive difference equations (2.6), where

$$\sigma(n) = f(n, \eta(n)) + L\eta(n), \quad n \in J.$$

By Lemma 2.5, it clear that for every such η , there exists a unique solution $u \in \Omega$ of (2.6). Define a mapping A by $A\eta = u$. This mapping will be used to define the sequences $\{\alpha_j(n)\}$, $\{\beta_j(n)\}$. We prove that

(a) $\alpha \leq A\alpha$, $\beta \geq A\beta$;

(b) A is a monotone nondecreasing operator on the segment $[\alpha, \beta]$. To prove (a), set $A\alpha_0 = \alpha_1$, where α_1 is the unique solution of (2.6) with $\eta = \alpha_0$. Setting $m = \alpha_0 - \alpha_1$, we have $Mm(0) - Nm(T) = [M\alpha_0(0) - N\alpha_0(T)] - [M\alpha_1(0) - N\alpha_1(T)]$. We see that

$$\begin{aligned} \Delta m(n) &= \Delta\alpha_0(n) - \Delta\alpha_1(n) \\ &\leq f(n, \alpha_0(n)) - r_{\alpha_0} - f(n, \alpha_1(n)) + r_{\alpha_1} \\ &\leq f(n, \alpha_0(n)) - r_{\alpha_0} - [-L\alpha_1(n) + f(n, \alpha_0(n)) + L\alpha_0(n)] + r_{\alpha_1} \\ &= -Lm(n) - r_{\alpha_0} + r_{\alpha_1} \\ &= -Lm(n) - r_m, \quad n \neq n_k, \quad n \in J, \end{aligned}$$

$$\begin{aligned} \Delta m(n_k) &= \Delta\alpha_0(n_k) - \Delta\alpha_1(n_k) \\ &\leq I_k(\alpha_0(n_k)) - d_{\alpha_{0k}} - I_k(\alpha_1(n_k)) + d_{\alpha_{1k}} \\ &\leq I_k(\alpha_0(n_k)) - d_{\alpha_{0k}} - [-L_k\alpha_1(n_k) + I_k(\alpha_0(n_k)) + L_k\alpha_0(n_k)] + d_{\alpha_{1k}} \\ &= -L_k m(n_k) - d_{\alpha_{0k}} + d_{\alpha_{1k}} \\ &= -L_k m(n) - d_{m_k}, \quad k = 1, 2, \dots, p, \end{aligned}$$

where r_m, d_{m_k} $k = 1, 2, \dots, p$ are given by

$$\begin{aligned} r_{\alpha_0} - r_{\alpha_1} &= r_m \\ &= \begin{cases} \frac{(M-N)(Ln+1) + LNT}{T} [Mm(0) - Nm(T)] & \text{if } Mm(0) > Nm(T), \\ 0 & \text{if } Mm(0) \leq Nm(T), \end{cases} \end{aligned}$$

$$\begin{aligned} d_{\alpha_{0k}} - d_{\alpha_{1k}} &= d_{m_k} \\ &= \begin{cases} \frac{(M-N)(L_k n_k + 1) + L_k NT}{T} [Mm(0) - Nm(T)] & \text{if } Mm(0) > Nm(T), \\ 0 & \text{if } Mm(0) \leq Nm(T). \end{cases} \end{aligned}$$

By Lemma 2.4, we get $m(n) \leq 0$ on J , i.e., $\alpha \leq A\alpha$. Similarly, we can prove that $\beta \geq A\beta$.

To prove (b), let $\eta_1, \eta_2 \in [\alpha, \beta]$ such that $\eta_1 \leq \eta_2$. Suppose that $u_1 = A\eta_1$ and $u_2 = A\eta_2$. Set $m = u_1 - u_2$. Using (A_0) , (A_1) and (2.6), we get

$$\begin{aligned} \Delta m(n) &= \Delta u_1(n) - \Delta u_2(n) \\ &= [-Lu_1(n) + f(n, \eta_1(n)) + L\eta_1(n)] - [-Lu_2(n) + f(n, \eta_2(n)) + L\eta_2(n)] \\ &\leq -L(u_1(n) - u_2(n)) \\ &= -Lm(n), \quad n \neq n_k, \quad n \in J, \end{aligned}$$

$$\begin{aligned} \Delta m(n_k) &= \Delta u_1(n_k) - \Delta u_2(n_k) \\ &= [-L_k u_1(n_k) + I_k(\eta_1(n_k)) + L_k \eta_1(n_k)] \\ &\quad - [-L_k u_2(n_k) + I_k(\eta_2(n_k)) + L_k \eta_2(n_k)] \\ &\leq -L_k(u_1(n_k) - u_2(n_k)) \\ &= -L_k m(n_k), \quad k = 1, 2, \dots, p, \end{aligned}$$

$$Mm(0) - Nm(T) = Mu_1(0) - Nu_1(T) - (Mu_2(0) - Nu_2(T)) = C - C = 0.$$

In view of Lemma 2.4, we have $m(n) \leq 0$ on J , i.e., $u_1 \leq u_2$.

We can now define the sequences $\alpha_j = A\alpha_{j-1}$, $\beta_j = A\beta_{j-1}$ and conclude from the previous arguments that

$$\alpha_0 \leq \alpha_1 \leq \alpha_2 \leq \dots \leq \alpha_j \leq \dots \leq \beta_j \leq \dots \leq \beta_2 \leq \beta_1 \leq \beta_0 \quad \text{on } J.$$

It then follows employing standard arguments that $\lim_{j \rightarrow \infty} \alpha_j(n) = \rho(n)$ and $\lim_{j \rightarrow \infty} \beta_j(n) = r(n)$ uniformly and monotonically on J . It is easy to show that ρ and r are solutions of (2.1) in view of the fact $\alpha_j(n), \beta_j(n)$ ($j \in \mathbb{N}$) satisfy

$$\begin{aligned} \alpha_j(n) &= \frac{C}{M - N(1-L)^T} + \sum_{i=0, i \neq n_k}^{T-1} G(n, i) \sigma_{j-1}(i) \\ &\quad + \sum_{0 < n_k \leq T-1} G(n, n_k) [(L - L_k) \alpha_j(n_k) + I_k(\alpha_{j-1}(n_k)) + L_k(\alpha_{j-1}(n_k))], \end{aligned}$$

$$\begin{aligned} \beta_j(n) = & \frac{C}{M - N(1 - L)^T} + \sum_{i=0, i \neq n_k}^{T-1} G(n, i) \bar{\sigma}_{j-1}(i) \\ & + \sum_{0 < n_k \leq T-1} G(n, n_k) [(L - L_k) \beta_j(n_k) + I_k(\beta_{j-1}(n_k)) + L_k(\beta_{j-1}(n_k))], \end{aligned}$$

where

$$\sigma_{j-1}(n) = f(n, \alpha_{j-1}(n)) + L\alpha_{j-1}(n), \quad n \in J,$$

$$\bar{\sigma}_{j-1}(n) = f(n, \beta_{j-1}(n)) + L\beta_{j-1}(n), \quad n \in J.$$

To prove that ρ, r are minimal and maximal solutions of (2.1), we have to show that if $x(n)$ is any solution of (2.1) such that $\alpha(n) \leq x(n) \leq \beta(n)$ on J , then $\alpha(n) \leq \rho(n) \leq x(n) \leq r(n) \leq \beta(n)$ on J . To do this, let $j \in \mathbb{N}$ such that $\alpha_j(n) \leq x(n) \leq \beta_j(n)$ on J , set $m = \alpha_{j+1} - x$ so that

$$\begin{aligned} \Delta m(n) &= \Delta \alpha_{j+1}(n) - \Delta x(n) \\ &= [-L\alpha_{j+1}(n) + f(n, \alpha_j(n)) + L\alpha_j(n)] - f(n, x(n)) \\ &= -Lm(n), \quad n \neq n_k, \quad n \in J, \end{aligned}$$

$$\begin{aligned} \Delta m(n_k) &= \Delta \alpha_{j+1}(n_k) - \Delta x(n_k) \\ &= [-L_k \alpha_{j+1}(n_k) + I_k(\alpha_j(n_k)) + L_k \alpha_j(n_k)] - I_k(x(n_k)) \\ &= -L_k m(n_k), \quad k = 1, 2, \dots, p, \end{aligned}$$

$$Mm(0) - Nm(T) = M\alpha_{j+1}(0) - N\alpha_{j+1}(T) - (Mx(0) - Nx(T)) = C - C = 0.$$

By Lemma 2.4, $m(n) \leq 0$, and hence $\alpha_{j+1}(n) \leq x(n)$ on J . Similarly $x(n) \leq \beta_{j+1}(n)$ on J , and hence $\alpha_{j+1}(n) \leq x(n) \leq \beta_{j+1}(n)$ on J . Since $\alpha_0(n) \leq x(n) \leq \beta_0(n)$ on J , this proves by induction that $\alpha_j(n) \leq x(n) \leq \beta_j(n)$ on J for every j . Taking the limit as $j \rightarrow \infty$, we conclude $\rho(n) \leq x(n) \leq r(n)$ on J and the proof is complete. ■

Remark 3.2. When $M = 1, N = 1, C = 0$ the BVP (2.1) is reduced to a periodic boundary value problem of impulsive difference equations in [1].

Remark 3.3. When $M = 1, N = 1, C = 0$ and $I_k(x) \equiv 0, k = 1, 2, \dots, p$, the BVP (2.1) without impulses is reduced to a periodic problem of ordinary difference equations.

Remark 3.4. When $N = 0$, the BVP (2.1) is reduced to an initial value problem of impulsive difference equations.

Acknowledgement

The authors would like to thank the reviewers for their valuable suggestions and comments.

References

- [1] Zhimin He and Xianming Zhang, Monotone iterative technique for first order impulsive difference equations with periodic boundary conditions, *Appl. Math. Comput.*, 156(3):605–620, 2004.
- [2] G.S. Ladde, V. Lakshmikantham, and A.S. Vatsala, *Monotone iterative techniques for nonlinear differential equations*, Monographs, Advanced Texts and Surveys in Pure and Applied Mathematics, 27. Pitman (Advanced Publishing Program), Boston, MA, 1985.
- [3] V. Lakshmikantham, D.D. Baïnov, and P.S. Simeonov, *Theory of impulsive differential equations*, volume 6 of *Series in Modern Applied Mathematics*, World Scientific Publishing Co. Inc., Teaneck, NJ, 1989.
- [4] Xinzhi Liu, Monotone iterative technique for impulsive differential equations in a Banach space. *J. Math. Phys. Sci.*, 24(3):183–191, 1990.
- [5] P.Y.H. Pang and R.P. Agarwal, Periodic boundary value problems for first and second order discrete systems, *Math. Comput. Modelling*, 16(10):101–112, 1992.
- [6] Wan Zhuang, Yubo Chen, and Sui Sun Cheng. Monotone methods for a discrete boundary problem. *Comput. Math. Appl.*, 32(12):41–49, 1996.